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BT 4 | A 5K 7 % > mpOT 4 | MR 3R 7 = = myOT 4 | %K ) 7 P myOT 4 | 3 7 = =
w1 T H 242 266 278 544 |F 4 WHAT5 T H 524 584 597 1,181|% BT 7 T H 1,271 1,631 1,461 3,092 |l KB 3 T H 215 273 261 534
B W 2T B 385 409 404 813| T » WEMT6 T H 382 404 429 833|%r BT 8 T H 518 635 618|  1,253|/h | 4,510 5,293| 5,349| 10,642
B w3 T A 293 348 343 691 s 9,496 10,665( 10,659 21,324(% BT 9 T H 1,011 1,209 1,093 2,302 {RE1T H 97 109 107 216
FE4ET1T B 151 155 139 294 |k IE 598 660 689 1,349|KJHET 1 T H 126 117 115 232| _RE2T H 319 375 376 751
P45 ET2 T B 92 77 83 160|% EHT 1 T H 309 401 385 786K JAHT2 T H 400 447 449 896| _RE3T H 270 308 330 638
P4 ET3 T B 128 149 174 323|% W2 T H 605 697 667 1, 364 5 8,814 10,615 9,683| 20,298| " {=RE4T H 127 127 142 269
£ L HT 278 269 283 552 |9 BT 3 T H 1,498 1,522 1,437 2,959 |W[ 0BT 1T H 805 897 873  1,770| {RE5T H 91 114 118 232
N HT 423 432 450 882|% F T4 T H 774 809 764  1,5733 BT 2 T H 292 378 333 TR H 1T H 72 78 74 152
fip L) 210 210 227 437k M1 T H 792 921 873 1,794 ({0 BT 3T A 229 265 265 530|3R 2 T A 122 143 140 283
1= HT 137 122 141 263[ Kk P 2 T H 331 403 401 804 [ BT 4 T H 747 750 712| 1,462k #H3 T H 127 131 109 240
* F W 172 210 207 417\(k M 3 T H 703 845 868 1,713 ({0 BT 5T A 723 740 721 1,461 |4 & A mAT 179 160 199 359
= fF HT 451 470 512 982 |t i 436 410 486 8967 T 6 T H 1,238 1,341 1,319 2,660(f & 1 T H 60 50 52 102
K o WE OHT 505 551 561 1, 112|4 52 421 502 534 1,036 (3L BT 7 T H 1,096 1, 069 1,129  2,198|% & 2 T H 71 75 77 152
W/ kT 316 313 332 645 A B F 1T H 281 330 331 661 [ BT 8 T H 785 858 743 1,60L|f & (L 37 62 75 137
KB HET 515 557 548 1,106(K % F2 7T H 241 332 340 672D AT 9 T H 946 880 967| 1,847 |/h FH 1,572 1,732 1,799 3,531
HinfnE1T B 212 214 236 450(4 ¢ 1 T H 514 736 696 1,432 ({0 BT10T A 877 785 744 1,529|'= [ 1 T H 385 274 310 584
HmEfnHE2T H 277 305 315 620(4 FF 2 T H 117 159 143 302 Sip 7,738| 7,963| 7,806 15,769|% [ 2 T H 86 98 90 188
HmEfiHE3T H 304 373 378 75114 F 3 T H 335 463 417 880|fk #& 1 T H 182 197 218 415|% [ 3 T H 250 181 181 362
Ft 5,091 5,430 5,611 11,0414 ¥ 4 T H 577 759 7201 1,479k #& 2 T H 992| 1,312 1,236 2,548/ K1 T H 87 118 94 212
B AKRTL T H 233 270 282 5524 3 5 T H 488 643 658 1,301 |8k # 3 T H 345 431 433 864 |/ ARK2T H 48 57 55 112
By AmT2 T H 361 409 404 813 s 9,020 10,592| 10,409 21,001|4 H# 1 T H 1,351 1,503 1,510  3,013|/h& k3T H 176 218 216 434
B AHET3 T H 207 273 265 538| W Mg 1 T H 485 448 529 977|145 # 2 T R 998|  1,094| 1,166 2,260|/h@AK4T H 237 184 244 428
El1TH 662 660 683 L343l & M2 T H 812 783 832 1,615(4 # 3 T H 893 997 968 1,965|/h& AR5 T H 76 80 94 174
Ei2TH 725 872 866 L7338 & M3 T H 1,076 1,090 1,078 2,168(4 H#H 4 T H 0 0 0 O|ER 1T H 274 187 254 441
EW3TH 388 506 518 10243 H M4 T H 716 677 666 1,343(4 # 5 T H 183 56 160 216|E R 2T A 251 290 280 570
Ei4TH 797 857 967 1,824\ & M5 T H 980 952 972 1,924 G 4,944 5, 590 5,691 11,281 R 3 T H 242 188 236 424
EW5TH 526 538 548 1,086 |3 & M6 T H 395 439 402 841 |/ | 52,856( 58,673 57,770 116,443/ G 2,112 1,875 2, 054 3, 929
E e T H 260 220 297 S17[#R » A1 T H 419 456 449 9054 1 T H 354 423 391 84|t A1 T H 247 188 267 455
EW7TH 482 523 464 987|M » 2T H 780 692 812 1,504 2 T H 411 470 479 949 A 2 T H 390 274 296 570
E 8T H 272 306 304 610|ff [ BT 1 T H 332 411 388 799|/m 3 T H 433 539 526 1,065 A 3 T H 105 126 125 251
EW9TH 3 4 3 7|6 [ BT 2 T H 715 812 810 1,622(Ffn HHET 1T H 215 258 252 510(a A4 T H 61 56 57 113
KHET1TH 317 361 359 720 |fifi fd BT 3 T H 575 607 542 1,149(Ffn HET 2T A 282 329 347 676 A5 T H 72 71 74 145
RKHEWT2T H 345 329 309 638l [ BT 4 T H 468 451 431 882(fF # 1 T H 152 200 194 394|pk A6 T A 36 44 46 90
RKHEBT3T H 315 412 379 791 =i 7,753 7,818 7,911 15, 729(HF #F 2 T H 163 193 215 408|pk A7 T A 69 82 78 160
KHEET4T H 307 380 375 75508 BT 1 T H 1,182 1,427 1,311 2,738(HE 4% 3 T H 171 215 204 419|p% A8 T A 99 120 96 216
K HEHBTS T H 306 345 361 7068 BT 2 T H 769 964 810 1,774 |HE #% 4 T H 228 263 260 523 [/ 1,079 961 1,039| 2,000
T WERT 1T H 662 752 758 1,510 ] 3 T H 1, 546 1,728 1,527 3,255\ # 5 T H 499 619 648 1,267 [H & 7 & & 9,273 9,861 10,241 20,102
T WHET2 T H 550 630 619| 1,249|%r BT 4 T H 711 817 791 1,608 |#E %5 6 T H 509 653 582|  1,235|& 2 62,129| 68,534| 68,011| 136,545
T WERT3 T H 408 505 440 945(%r BT 5 T H 1,181 1,513 1,382 2,895 |4l AR BT 1T H 375 432 434 866
T WERTA T H 464 525 432 957(%r ®T 6 T H 99 127 126 263|fh AR 2 T H 503 426 556 982




